Squaring the polynomial (z — 1):



Squaring the polynomial (z — 1):

(x—1)2=(@x—-1) - (x—1)



Squaring the polynomial (z — 1):

(r—1)2=(@x—-1)-(x—1)
= 122



Squaring the polynomial (z — 1):

(r—1)2=(x—-1) (x—1)

= 1z2—1x



Squaring the polynomial (z — 1):

(x—1)2=(z-1) - (x—1)

=122 —lz—1zx



Squaring the polynomial (z — 1):

(x—1)2 = (z—1) (x—1)
=122 —lz—1lz+1



Squaring the polynomial (z — 1):

(r—1)2=(x—-1) - (x—1)
=122 —1lz—1z+1



Squaring the polynomial (z — 1):

(r—1)2=(x—-1) - (x—1)
=122 —1lz—1z+1
=22 -2 +1



